95+25

83 pJ1/2
=
ar S A
\TEZX1y ¥
\/
AN+ 132
/
TLE32011J
4 N
b S VA
\#H22%+rv7 = N 5o 1 40
7070 = .
NI —
|
""" - T 3 g %
b L2 &
B 209 k-2 (L=680) ™l
X1y $2- F(L=1250) / A7) ?‘é‘ﬁfq‘*ﬁym
i BAkEREEY LT
+Y4-2-F (L=1030) $E&0, )
LS | TLEQ1711JA
J1vs- r-l
hik-
1 TAWGs— )
H‘;;:;:,w \~\\ T %TLE32SASADty AR, TLE32011J+TLEQ1711JATY,
AC100V | o 58
P ° - } 30
&8R- 1(L=750) vC): KEEEAE | ’
1 i} k43
N H- TOTO &= | mn sftamkR
i RE A9, ACLOOV, 7Yy Va
162 N\ 7awo-flixe WL AR |mnn I¥  P024-08-01 14 -
%3 TLE325A5A
YL & E3

A3




